30.12.2023 FIRE OPERATOR CUM DRIVER HSSC EXOM

% CG - FO23

1. CO,is__ than air. 1. CO,& <l e H —-% I
(A) lighter (A} Beehl
(B) equal (B) SR
(C) heavier Jef Tt H:,::L]
(D) lesser (D) %A =4 )
(E) Not attempted (E) FyaTfa
2. What is the colour of LPG ? 2. LPG &I U1 &1 BT & 7
A) Blue ) e
(B) Red (B) &<
(C) Colourless :
(D) Light red (D) Behl ©ilel
(E) Not attempted (E) ryanfea
3. can be used in flammable 3. 1 IYA SHeESIE FaE §
atmosphere. EEIS e %I
(A) Electrical lamps (A) forrett & g
(B) Safety lamps _/{ﬁi f3tell o
(C) Hurricane lamps (C) d%H il
(D) Portable electric box lamp (D) qreae Eéﬁgiﬁ qieg o7
(E) Not attempted (E) 3nwmiée
4. Fire involving in combustible solid 4, e S H i 3
classified under _______ fire, T % a8 a'rﬁ% T T )
(A) Class A AT @t A
(B) Class K (B) = K
(C) Class B (C) il B
(D} Class D (D) T D
(E) Not attempted (E) IT9amiiyg
5. Which stinging agent is added to LPFG? | 5. LPG W shi-w1 fefim wie fiemn s 2 7
(A] Mercaptan (A) WeheH
(B] Ketones J‘.Lfm (B) EArAE
(C] Musky gfa?‘fq (C) ekl
& (D) Floral _(B) e
\ (E) Not atternpted (1) arsrerfa
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are generally used for
delivering water.
(A) Percolating hose
(B) Suction hose

(C) Non-percolating hose
(D) Unlined hose
(E) Not attempted

High velocity system used for extinction
of fires in flammable liquids having a
flash point above

(A) 65°C
(B) 75°C
(C) 100°C
(D) 90°C
(E) Not attempted

The three principles of extinguishment
in the high velocity water spray projector
systems are emulsification, cooling
and

(A) exposure

(B) prevention
(C) extinction

(D) dilution

(E} Not attempted

Approach suit provide heat protection
upto

(A) 93°C

(B) 260°C

(C) 65°C

(D) 100°C

CG - FO23

6. 1 I HAWAX T GEan
% for fepar wman 21
(A) eueht aTet B
__4B) T B
(C) T-TTh ATt B
(D) fEa B
(E) 3Tafi

7. SHeHYE e et d§ s g % forw
I T TTedt o1 3ai fepan sar 2 forger
Ty forg B FH A 2
(A) 65°C
(B) 75°C

MD“C
(D) 90°C
(E) 3T9anfiaa

e
L
(=l ~k[E]

8. I AN Sl B VeiER Wored § 31 g9
& i frgia wedifrhem, sfaem i

2l

(A) TR

(B) T

Loy T g

(D) SEyH

(E) 3ot

9. @?’%______'ﬂaanﬁﬁmmm
HT B |

i 93°C
(B) 260°C
(C) 65°C
(D) 100°C

(E) Not attempted

(E) ST
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10.

11.

12.

13.

14.

. (D) Using the strncpy() function

How do you copy a string in C Program ?
(A) Using the = operator
(B) Using the strcat() function

(C) Using the strepy() function

(E) Not attempted

In the CO, extinguisher, CO, is retained
in a liquid condition at about

bars pressure.

(A) 25

(B) 51 .

(C) 41

(D) 61 ;ﬁ'"fﬂ
(E) Not attempted Op0|

The diameter of the hose reel is normally
(A) 10 mm (B) 19 mm

(C) 36 mm (D) 50 mm

(E) Not attempted

The Human Development Report is
published annually by

(A) IMF

(B) IBRD

(C) UNDP

(D} UNESCO

(E} Not attempted

dy l+y

The integrating factor of —+y =—=1s
dx X
EH

A b ﬁ/__

(A) xe ( X a2y
i T

(C) xe'/2 D) o

(E) Mot attempted

CG - FO23

10. ¢ " ° el fegm 61 =0t 8 6
SR 7

(A) = 3T HT ITGIT Fh

(B} strcat() G I FTAN Fleh
_A€) strepy() WHH HI I Fik
(D) strncpy() e 1 ITETT Hish
(E) 3T9aie

co, wfmems # co,

TeTE Y A Haen ¥ w wd R |
(a) 25

(B) 51

) 41
(D) 61
(E) Fonfaa

S
29 fi &1 =IE 9 g &%‘5}

{A) 10 mm (8] 19 mm
(C) 36 mm D) 50 mm

(E) 3rwnfed

wa frmra e foreeh grr wfeey wefim
AT R ?

(A) HATETHTH

(B) ITEeaTRE!

(C) quAsidt

2l

(E) Ag=riiy

11.

12,

13.

14, d—}r+
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18.

19.

Who was the First President of United
States ? :

(A) Thomas Jefferson

(B) George Washington

(C) Truman

(D) None of the above

(E) Not attempted

is a lowest temperature
at which a material will emit vapor
combustible in air mixture.

(A) Flash over

(C) Flash point
(E) Not attempted

(B) Fire point
(D) Flash up

Which of the following are non-
flammable gases ?

(A) C,H,, CH,
(B) H:;! Cqu
(C) CO,, SO,, N, $§
(D) C,H,, CH, BRAS

(E) Not attempted

Fittings used for joining two lengths of
hose together or to an apparatus are
called as

(A) Couplings (B) Diffuser
(C) Branch pipe (D) Nozzles

(E) Not attempted

The Code of Practice for fire safety of
buildings exit réquirement as laid down
in the

(A) IS-1644 : 1988

(B) IS-1654 : 1988

(C) IS-1532 : 1990

(D) 1S-1650 : 1988

(E) Not attempted

CG - FD23
15. g U= IR & Tgel Ugaly 91 &
(A) IR SHEA
By i1 AT
(C) g
(D) 39Uad § & &I T81
(E) SATfEa
16. v frean aae @ fom wows
weref gar & fyw § sgemsie g &1
IeHSH T B |
(A) FoATT 3T (B) 3 foig
oY T @ (D) FAT 3T
(E) vt
17. Trefefes 4 & S9-0 f-saasie
THE
(A) CH,, CH,
(B) H,, CH,,
A€y CO,, 80, N,
(D) C,H,, C,H, s
(E) 3Tuamfea %*%

18. Gl oFERE F BIF H U 91y A1 e sue-

19.

(A) 1S-1644 :

(B 15-1654 :
(C) 1S-1532 :
(D) 1S-1650 :
(&) i
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20.

21.

22.

suit helps the fireman to
work very close to the flames.
(A) Proximity suit
(B) Entry suit
(C) Approach suit
(D) Jacket suit
(E) Not attempted

In degree celsius, water

change into solid state.

(A) 100 (B) S
(C) O (D) 2
(E) Not attempted

In SQL (Structured Query Language),
refers to differences within the
group or set of data of a variable.

- (A) Range

. (B) -Agcuracy

23.

24.

(C) Standard deviation
(D) Validation

(E) Not attempted “@:ﬁ
A mE

Saraswati Wildlife Sanctuary is

situated in district of Haryana.
(A) Kurukshetra

(B) Hisar

(C) Karnal

(D) Kaithal

(E) Not attempted

Find the odd man out,
(A) 4774

(B) 363

{C} 4174

(D) 3773

(E) Not attempted

uﬁ'

CG - FO23
20. ¢ AW HT I H AR
& HE FH H | 7eG H R |

(A) wifeaffe g2
(B) U He
ey 3T e
(D) e Hqe
(E) 3Twiaa
21. faft afcwmw § o 39 sen §
T5e A BRI
(A) 100 (B) 5
wam_tef 0 (D) 2

2.) SQL (Weaig |l eids) & fredht
= TR AT 2T F AT F iew It A
Hefifd #tar 2 |
A) &

(B) Tt

Y T faree
(D) HeaTH
(E) 3Twféa

g % e # st g
RE e

(a) BeEm

(B) feam-

- (C) HEATA

(D) et -

(E) ST

24) o fium a i)
(A) 4774 °
(B) 363
(CLA4T74
/6}/;{?3

(E)

——
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8.

29.

A buildings in height shall
be considered as high rise buildings.
(A) 15 m or above
(B) Below 15 m
(C) 14 m

(D) 12 m

(E} Not attempted

Lt ]

The maximum size of the gas cartridge
is gram for a 9 litre
water extinguisher.

(A) 10 (B) 120

(C) 60 (D) 180

(E) Not attempted

Which among the following is toxic gas ?
(A) Argon

(B) Sulphur dioxide

(C) Helium

(D) Carbon dioxide

(E) Not attempted

knot used as sling to lower
UnCconscious persons.
(A) Bowline (B) Reef knot
(C) Half hitch (D) Chair knot
([E) Not attempted

The heat which is absorbed during

change of state from solid to liquid is
called

[A) Liquefied stage
(B) Inhibition

(C) Fire suppression
(D) Latent heat

CG - Fo023

25, SO U UH ARG __ I el 36wl
% &9 § §HET ST |
&0 15 m I 3EE FW
(B) 15 m ¥ =
(C) 14 m
(D) 12 m
(E) T9yg

9 et AT UfRigyR % foru g ifes
HUFHaT IFHR A g |

(A) 10

(C) 60

[E) 3Tvarfe

26.

120 g
(D) 180 e

27. Ffifen § & S-of setch A 2 7
(A) ATTA
BT HeH TgatTaTeS
(C) Biferam
(D) A ST331faTEe
(E) ST

e 1 T A e w5y A= L
w o e e % w9 § fear ST #
{A) TIETA (B) {I% Te
Loy T = (D) R e
(E) 3Tuaria

28.

b s

L "

20. S 53 s TR A N S
Faeifya Bt 8, 3@ el Sl gl

(A) FEIT =T
(B) Fg

(C) 3T gHA

AD3) AR T

(E) Not attempted

(E) TSt
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30.

31.

32.

33.

34,

Industrial buildings of low and moderate
hazard are permitted only upto _

height.
(A) 18 m (B) 20 m
(C) 25 m D) 22 m

(E) Not attempted

type extinguishers provide its
own pressure for discharge from the
storage container.

(A} Water
(C) DCP
(E) Not attempted

(B) Foam
(D) CO,

In method crews construct a

fireline at some distance from the edge

of the fire.

(A) Prescribed burn

(B) Pre-fire planning

(C} Penciling

(D) Parallel attack Eim

() Notattempted @
(m]i5

=

What does E-R stands for in the E-R
model of database design ?

(A} Entity-Relationship

(B) Error-Resolution

(C) Event-Response

(D) Efficiency-Robustness

(E) Not attempted

Identify the reaction order of the
following rate constant.
k=2.3x10° L mollg-1,

(A) Second order

(B) Zero order

(C) First order

(D) Third order

(E) Not attempted

CG - FO23

TN R A @At Gt st SR
W HaA _ Fwmg a & Al

& et 2

WS m

(C) 25 m

(E) 319
TR & INfEIE YR FeR

& Fidga & fore 31 g weE we g |

(A) (B) T

(C) DCP 4T CO,

(E) ST

(B) 20 m
22 m

31.

faft o wffem o % P @ 30
gt otk e Y i i w2
(&) Fefie sen
(B) q& A s
(C) uffem
D] T 31em
(E) 31wanfam

33. TREd f39EA % E-R Ofes § E-R 1 1
#I 27
(ApifEfe-feigmtim
(B) w-fedieggr 0
(C) THR-tw=
(D) UfthRmt-Teeeg
(E) TSR

32.

{0
E
OfE3 s

34)) Frfeen w i w1 s 5 B
UEIH H |

k = 2.3x105 L mol-1s~1.

(A) fdfmwr WS
(B) Y 9

€y T wH

(D) e HH

-5
j_ic,:itﬂ

(E) @i

5.
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I or what purpose are antipyretic
medicines used ?

(A) Medicines for blood cancer
(B) Medicines reduces fever
(C) Medicines for body relief
(D) None of these

(E) Not attempted

Latent heat is measured in
(A) Ampere

(B) Meter

(C) Grams

(D) Joules per unit mass
(E}] Not attempted

In system intermediate pumps

ar;:_arg_nged to be kept between the
supply pump and the fire.

(A) open circuit
(B) closed circuit
(C) truck relay

(D) turn table relay
(E) Not attempted

The color code for 93°C bulb type
sprinkler is

(A) Orange

(C) Red

(E) Not attempted

(B) Green
(D) Yellow

Expand NBC.
(A4) National Bureau Code
{B) New Business Code

(C) Natural Bacterial Concentration
(D) National Building Code

CG - F023

35. s it w1 v e w1 %
Tore fepan iran € 7
(A) T % T g
(B) TAIU §@R HH Hdl &
(S} =l a3 areft ga

(D) ¥H & 1§ T&f
(E) 3Tvamiad

36. 375gad FSAT I

(A) TR
(B) HieT
(C) ™

By s gfve
(E) 7o

87. 9Nl # Sevfifiue vl =1 swmgfd
79 3R AM & offw @A bt e @
ST 2
(A) T TR
B} FIsE Hihe
(C) o Tt
(D) & ¢=e T
(E) 3T9aTfaa

F T ST # |

38. 93°C 974 oY fSiger % forw Hel wre

—
(A) AR %
I
(E) 3TSETEa

(B) &0 %
(D) et

Gl

39. NBC (uddt) = foean il
T = wrs
(B) =L forsta e
(C) T S HET
_ (D) e oo e g

it
e

(E) Not attempted

(E) 3Tvantha G
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41.

"

42.

43,

44.

Which of the safety requirement is not
correct in the event of total flooding ?

(A) Provide adequate lighting with
directional signs

(B) Warningsignsshould be positioned
inside of the protected area

(C) The alarms should activate a few
minutes before the operation

(D) CO, installed in explosive areas
should be provided with metal

nozzles
(E) Not attempted ol _',,E'jJE
Bl
Ultraviolet detectors work with
wavelengths shorter than 1.
(A) 100 (B) 50
(C) 200 (D) 300

(E) Not attempted

A is a device that connects two
LANs or two segments of the same LAN.
(A) Hub (B) Switch

(C) Router (D] Bridge

(E) Not attempted

Haryana government notified Punjabi
as the State’s second language in

(A) 1947 (B} 1968

(C) 1966 (D) 2010

(E) Not attempted

When is the World Homeopathy Day
observed ?

(A) March 11

(B) April 11
(C) March 10

(D) April 10

CG - F023
40. e o1 <t Ferfa o it gea savEsmsan
wE T B ?
(A) fesmores Ghal & @Y T TR
LT il
(B) =IdTeHT Hehd Hlféra & % A T
BT =feY
(C) 3TeH & %8 fire yget s @l
& 9 =1y
Dy et &t & wifia co, #1 wg
% Tietet * w1Y e TR s =
(E) rwEmisa
41, WET fedwe nm o A
qeTes % |19 wH H B |
100 (B) 50
(C) 200 (D) 300
(|) St
42, ___ TH ITH0T R G A (LAN) A
T & O (LAN) % & el % Jeal 2 |
A E (B) fom
(C) ¥ (D o
(E) v e E%ﬁ
43, BT R Y eet o) gew & Gl
W % ¥ W arffg o foa|
(A) 1947 (B) 1968
(C) 1966 By 2010
(&) e
@) o @R e e e T & 7
mfum%f (B) 11 30
() 10 "= (D) 10 37
(E) 3T

(E) Not attempted

-10-
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Foam is produced by mixing foam
concentrate with

() co,

' ;E (B) Powder

Lo (C) Water

(D) Oils
(E) Not attempted

6. Which of the following pairs of physical

quantities may be represented in the
same unit ?

(A) Heat and temperature
(B) Heat and work

(C) Temperature and mole
(D) Specific heat and heat
(E) Not attempted

47. Flame cutting equipment work with
the combination of acetylene gases
and

(A) Oxygen

(B) Oil

(C) Fluids

(D) Water

(E) Not attempted

48, AsperTACwaterstorage recommended

for ordinary hazard industry is

(A) Not less than 1 hour aggregate
pumping capacity

(B) Notless than 3 hours aggregate
pumping capacity

(C) Not less than 2 hours aggregate
pumping capacity

(D) Not less than 4 hours aggregate
pumping capacity

(E) Not attempted

«11-

CG - F023

45. I F 3G BIF B B F
a1y fiyerrent femar st 21
LMy CO,
(B) T3
(C) 9
(D) o
(E) 3roEnfira

a6. Trafafas § & vifees wenadl =1 ®H-9
W GHA hIS § g1 S FhAl & 7
_AA] T 3R e
(B) ST 3R HE
(C) T9HF FHR Hret
(D) faf¥rz e afic sea
() ST

47. W%mmﬁﬁﬁ
% T ¥ Oy % w5 B
AT
(B) @
(€) 5d
(D) Tt
(E) 3Trnfer
a8. TAC % 3gHR, Tyror HRew a1t sevii 3

fere S serer 6 w6
S # |

(A) 19 & %y qufier dft amvar
E“l’/ﬁ T W qufeyd fin e Tdr
(C) 268/ &N ufidr dfin e I8
(D) 4 e A s ufeerd AT QFaT

(15) 3ymidia

L
£\
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49. Which of the following is active fire

50.

52.

53.

protection system ?

(A) Fire resistance rated walls and
floors : '

(B Manual or automatic fire
detection

(C) Minimizing ignition sources

(D) Emergency evacuations

(E) Not attempted

Maratha ruler Tantia Tope had built a
fort at this place of Haryana

(A) Mahendragarh

(B) Narwana

(C) Bhiwani

(D) Jind

(E) Not attempted

The simplified form of

il 4 jn+ L+ in+2 +i'“3i8
(4) O (B) -1
(C) 1 (D) i
(E) Not attempted

In SQL (Structured Query Language)
is simply the average of
numeric values of an attribute.

(A) Mode
i
(C) Mean e

(D) None of the above
(E) Not attempted

CABA stands for

../hfj'ﬂclnmpressed Air Breathing

Apparatus

(B) Compelled Air Breathing -.
Apparatus

(C) Compared Air Breathing
Apparatus

(D) Compelled Air Blood Apparatus

(E) Not attempted

=12

CG - FO23

49, ﬁﬁiﬁf@aﬁﬁaﬁ?-meﬁﬂyﬁg{m
ToTied 8 7
(4) A afeg 1 a3t s

(E) 9T
50. HUSI Y AT 29 3 BT % 39 wn
T Uk fehedT S4amn
Ay =T
(B) &
() Frarh
(D) Siig
(E) SA9aTf
51. in+in+1+in+2+in+3'ﬂ;[waﬁm%
() 0 (B) -1 (™1™
A 1 T
(E) e
52. SQLH (RFs®alieaw)
Tersta aer HeaTees T 5 3iEa & |
(A)
rfenes
(C) AT
(D) 39 H | w7
(E) 3Toiya
53. CABA @ 31 g
{A}Wﬁﬂ‘@ﬁaﬂﬁﬁﬂw
(B) FHYTS W3R #ifepr trfem
(C) FHISTE T3 sfifiy dfem
(D) s T3 sorg ey
(B) waiie
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5>S.

56.

57.

58,

(E) Not attempted

What is the temperature of orange
colour bulb type sprinklers ?

(A) 57°C (B) 79°C

(C) 68°C (D) 93°C

(E) Not attempted

Normal body temperature of human
body is

(A) 39°C

(C) 35°C

(E) Not attempted

(B) 37°C
(D) 38°C

The energy possessed due to the

oy

motion of an object is called
(A) Potential energy
(B) Kinetic energy

(C) Thermal energy

(D) Power

(E) Not attempted

Water boils at at atmospherie
pressure.

(A) 0°C (B) 35°C

(C) 86°C (D) 100°C

Water spray cannot be used on
fire.
(A) Class A

(B) Combustible solids
(C) Wood, paper
(D) Class C

(E) Not attempted

-13-

CG-F023

54. T 1 % wed <39 e F AR
fepam g 2 ?

(A) 57°C _BJ 79°C
(C) 68°C (D) 93°C
(E) 3rwarféa
55. HMET YRR & §W IR a9

SN, -

(A) 39°C 1Bf 37°C
(©) 3s5°C (D) 38°C
(E) 39Tfie

56. forell oxg 6 1fy F wwor 21 arelt ot B
el STal 2|

(a) "Il St

By et St

(C) TR St

(D) wfad
b%”‘*ﬁ (E) F1Entaa

57, UHI
(A) 0°C
(C) 86°C
(E) -315aTiéa

ISy 2" W IEerd 2
(B) 35°C

__(By100°C

58. W % T w1 o
foma <11 Wy 2
(A) T A
(B) GBS Sy
(C) TSI, HFTH
Cullle
(B) 3T

T 9 ES

Fale N
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59.

60.

62.

63.

Which of the following is not a method
of heat transmission ?

(A) Radiation

(B) Conduction

(C) Convection

(D) Explosion
(E) Not attempted

In the deluge systems ____ type of
sprinklers installed.
(A) closed

(B) pressure

(C) open

(D) plastic

(E) Not attempted

What is the primary advantage of
parallel processing ?

(A) Reduced power consumption
(B) Increased processing speed

(C} Lower cost

(D) Improved software compatibility
(E) Not attempted

According to the 2011 census report,
which State recorded highest density
of population in India ?

(A} West Bengal

(B) Uttar Pradesh

(C) Bihar

(D) Kerala

(E) Not attempted

What will come in the place of question
mark ?

W - 144,7,8-100, Q - 81, O - 64
(A) U~ 121 B) v-121

(C) U-122 (D) V- 128

(E) Not attempted

-14-

- (P} R
(E) sT9aia

Yierer wrafim = mafs e s @ 7
_{ayn feredt <61 @

(B) wrfépr i fa 5 gfg

(C) A @

(D) 399 HiTeaaR Tl

(E) rwanfaa

61.

2,Y 2011 s FFOAT {OE % ITER 97T |
[l FEAT T el U9 -8 8 ?
(A) Tfim s

BT IW e
(c) fer—
(D)
(E) Twmea

63. v 9% % W W Ry 3mm ?
W -144,?,5-100,0Q-81, 0 - 64

(C) U-122 (D) V - 128
(E) Toniya

P Mg L7 % =iy ar3?
pBe s Bamird o s

PYEw UL SR ol el

a3 2 _I"' Aoyt '
B B
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64. Inthe Manual fire alarm system, which

of the following is manual system of
raising alarm ?

(A) Rotary gongs

(B) Sprinklers

(C) Detectors

(D} Fire suppression
(E) Not attempted

65. is the transfer of heat by
moving particles of liquids or gases.
(A) Conduction

(B) Convection

(C) Uninhibition

(D) Inhibition

(E) Not attempted

66. As per National Building Code of India

buildings are categorized under

Group H of occupancy.
(A) Educational

(B) Storage

(C) Industrial

(D) Residential

(E) Not attempted

5
mIEE

67. Area from which escape is possible in
one direction only is

(A)
(B)
(€)
(D)
(E)

exit point
assembly
dead end

riser

Not attempted

-15-
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64. ot W e freeH H fecen § 5
F—ar VAT 3 il B IO 8 7
(&) Tedt ufeara
By Tozwm
(C) feax
(D) HATT GHA
(E) 3T5Tita

65. wmﬂﬁ%ﬁnﬁwﬁﬁm
ST T FIH 2
(A) FHEFH
(C) FTgATRfaem
EyE
S (o) et
(E). 375aiem

66. v fafeen wg s sfear & FTER
— SHRd g % g9 H % Jarfd
T2 |
(A) Fremers

By HERO
(C) 3irenifies
(D) FETER ¥
(E) 3T9anfira

67. 9 &7 ¥ Hae O fagy § g=r 999 2,

ELR
Any T g
(B) 3wt
(C) 2T TS

(D) T
(E) AT

re!
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68.

69.

70.

72.

[n Python function returns
an integer that specifies the current
position of the file object in the file,

(A) seek() (B) tell()
(C) read|) (D) write()
(E) Not attempted

If | x-2|<1, then

(A) xe(-1, 3)
(B) xe[-1, 3)
(C} xe(1, 3) DEriC)
(D) xe[1, 3] E%

(E] Not attempted

According to the 2011 census report,

the women literacy rate in India is
(&) 74.3% (B) 75.4%

(C) 82.14% (D) 65.46%

(E) Mot attempted

TAC stands for

(A) Traffic Access Control

(B) Traffic Advance Committee
(C) Tariff Advance Committee
(D) Tariff Advisory Committee
(E) Not attempted

system provides protection for
buildings from internal fire.

(A) Drencher -

(B) Sprinkler

() co,

(D) Hydrant

(E) Not attempted

=16-

CG - FO23
68, TFYT H hHH Teh Ul Sl
2 S BTEA A I HATestee i ega feufy
= fafdse =t & |
(A) seek() (B) tell()
(C) read|) BT write()
(E) o '
69. dR |x-2|<18, @
) xel-1, 3) 1 -{H
©) xe(1,3) % 37

(D) xell, 3] /

(E) ITwTa

70. 2011 #i FwwET {0 F AR 9Rd
Afger wetar @ ot & 7
EE (X) 74.3% B) 75.4%

B (C) 82.14% X _(D)y-65.46%

(E) 3Tt

71. TAC = Adei™d

(8) 25w THEE FE
(B) g% 3rgary Hiufe

HAgaTS Hife
( F STgATEI e
(E) Irsafi

]

72. _____ YTEll Hafes e § wHRa @l
GUaT Yo i 2
(A) $=R
/LB]/@'EF:‘T{
(C) Co,
(D) BEge
(E) 3T9arid
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yusuawyg =T T

Chernical formula for oxygen is
(A) O, (B] CO

) O, (D) H,

(E) Not attempted

Which of the following is type of
synthetic rope ?

(A) Manila

(B) Nylon

(C) Cotton

(D) Sisal

(E) Not attempted

A vertical pipe installed in a building
for fire-fighting purposcs, that is
permanently charged with water 1s

(A} Wet rising main

»

(B) Total flooding Hﬂif
(C) Dry rising main
(D) Local application

(E) Not attempted

AR — AFFF used on fuel fires containing

(A) Wood (B) Metal

(C) Electrical (D) Alcohol

(E) Not attempted

Fulil form of MCB is

(A) Miner Control Board

(B) Miniature Control Breaker
(C) Miniature Circuit Board
(D) Miniature Circuit Breaker
(I5) Mot attempted

=17 -

CG - F0O23

73. AR S TEEAE A B
{ 0. (B) CO
(€) CO, (D) H,

= (E) v

74. Tofafiaa § @ sH- G9fes w=h =
TR B 7
(A) BET
(BY T
(C) =h4TH
(D) HBHA
(E) 3rwanfag

75. fHwmT =l o e o sAna & wenfig
U Aggd qi3d o1 9 B w2l 59 § el

/iﬁ}%,ag TR |
) 9 TWafem A

(B) i 9T
(C) 37 TR A=
(D) BT 9=
(E) sTmarfyg
76. AR-AFFF 1 93 e H foar St
(A) TThEl ~ (B) urg *

(C) ferega ~ sTeEa
([E) I )

77. MCB %1 0 &g 2
(A) AER FHTre S
B) TR Sde S
(c) faFe=R affe =i
oy TiHT=R wffe s
AT

(E)



Guest
Rectangle


78.

79.

80.

81.

82.

When any building is used for more
than one type of occupency is called
(A) Mixed occupancy

(B) Light };azard occupancy

(C) Hazardous occupancy

(D) Storage buildings

(E) Not attempted

The temperature at which a liquid
boils and becomes a vapour is the
(A) Melting point
(B) Boiling point
(C) Freezing point
(D) Density %
(E) Not attempted BIHA
A modem’s transmission speed (the rate
at which it can send data) is measured in
(A) Hertz

(B) Bytes

(C) Bits per second (bps)

(D) Watts

(E) Not attempted

Which number will come in the place
of question mark ?

7,26, 63, 124, 215, 349, ?
(A) 391 (B) 481

(C) 421 (D) 511
(E) Not attempted

Utility rope for raising or lowering

MOVINg parts of extensjon ladder is
called

(A) Hard line
(C) Wire rope
(E) Not attempteq

(B) Halyard
(D) Puller

CG - FO23

78. W Tl sURE w1 IwE UH ¥ Afus

YR F Fn F e fopn sman &, O @
gl T 8l
e

(B) Bohl Tall AT

(C) T I

(D) HEROT $HRA

(E) AR

a8 q9H o W HIE T Ieerar § 3R
Hmaqﬁlm%,aﬁ__é’lﬂ?‘%l

(A) TETH

ABJ AT

(C) Tewmh

(D) @Fcd

(E) HA9ATRIE

80. US Hiew i g=wwr i (R o W T8 &
) Be
(B) TegH
H‘%ﬂ%@{bps]
(D) 91
(E) 3

wﬁaﬁaﬁmmﬁmﬁmmﬁ 7

e

}7(\’5 63,124, 215,342,? ¥ -
(A) 391

(B) o
(C) 421 511

(E) 79

T S % R qidw $ S0 8

7 e F g gffrd du B >
&I T ¢ |
7 (A) ETS AT
(C) R =t
(E) T

79.

.(B) BEHETE
4pf T
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Foam extinguisher can either gas

cartridge type or
(A) Stored pressure B 5
(B) Chemical pressure / U

(C) Cylinder pressure ['r

(D) Hydraulic pressure
(E) Not attempted

19.5% oxygen level is considered as a
condition.

(A) Enriched

(B) Fainting

(C) Normal

(D) Minimum safe

(E) Not attempted

In the wet riser system, size of the vertical
pipe should not be less than min
internal diameter.

(A) 65 mm

(B) 100 mm

(C) 50 mm

(D) 74 mm

(E) Not attempted

What is the full form of TEC ?

(A) Typical Environment Control
(B) Ternary Eutectic Chloride

(C) Tender Equipment Commission
(D} None of these -
(E) Not attempted ﬁ%
Volts = Amps x
(A) Ohms

(C) Watts

(E) Not attempted

/X'HT/Resistanc e

(D) Voltage

=19-

CG - F023

83. W 3T g Srel AT Al THE I FwR
T YehL o1 &I Thdl 2l
() FafeT ==
By Gl =
) Taféest ga e
D) ETEgiforh g
(E) Twmea

19.5% TaE== =< i
HHET ATET 2

Ptk 6] [‘&*}W
KRS (B) BT

84.

(D) =Lam gXfama
(E}) SATITR

85. ¢ TS fwen & affser qry =1 37N
R@mm‘sﬂmi‘rmqﬁgﬂmﬁqi
65 mm 4.5

XB) 100 mm Y i~
(C) 50 mm 2 ™~
D) 74 mm  3.%

(E) TS

86. TEC (I T 10w 7o grer # 7
(4) TR T Sate
(B) = afFes weirmze
(D) s & Hré &

(E) 3T9mide

o P
87. 9T = THRR x

(A3

(C) e

() aTsremfim

P~
aLer

(B) =
(D) =leest
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88.

89.

90.

92.

CG - FO23

Sparge pipe is useful to protect 88, & UEY 1 guan & fag
(A) Engine from heating IO 2
(B) Tyres from ground fire to water (A) aifen g m

the road _ (B) T W UMl & foru S 31 & 2
(C) Vehicle from radiant heat (C) Usuz €2 & amea
(D) Hoses from damaging /(Eﬂ/ Bl I T B4 °
(E) Not attempted (E) Twmiad
Fire involving combustible metals are 89, SHoHYIA %Ilﬁaﬁ | @:ﬁ A At
classified as aclass __ fire. AM S e H Rt =T %I
(A) A (B) C (A) A (B) C
(C) B (D) D ~C) B DD
(E) Not attempted (E) 3o
Hydrostatic pressure testing is required | 90. TE ol { we sAheEs &
for water extinguishers in every ot aseReies e wiigor & sEEEd
vears. @Eﬁ -‘%|
(a) 3 ®) 8 a3 B) 8
(C) 5 (D) 10 (C) 5 (D) 10

(E) Not attempted

What is the purpose of system

software ?

(A] To create documents and
presentations

(B) To browse the internet and
access web content

(C) To manage the computer’s
hardware resources

(D) To edit photos and graphics

(E) Not attempted

This lake is also called as Ottu reservoir
(A) Sukhna lake

: HAE
(B) Jui canal gféﬁ?ﬁ

- [EFEE
(C) Dhanur lake '
(D) Diwanawala lake
(E) Not attempted
-20-

%’% (E) As=niaa

91. Towew ditedr =1 Fa1 Teva & 7
(A) cEEH 3wl =9 % fou

(B) ST T IR 99 e 7 T
o

W@iﬂ‘ﬂ“{ﬁﬂm‘rﬁﬂﬂﬁﬂﬂ?ﬁﬁ
% form

(D) ®IA 3 mftks & ufge & fag
(E) 3r9arféd

92. ¥ i@ I 3ig Femwy ft wEd &
(A) H&AT e %
(B) S8 e
(C) Wt sfiet
L,(D}/?ﬁamﬁngﬁﬁ
(E) 3rmamfiE
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1s a composite gland
hh acts as both exocrine and
erine gland.

Adrenal gland
Thymus
Pancreas
Parathyroid gland

Not attempted

is formed when immiscible
1ids are agitated together and one
he liquids is dispersed throughout
 other.

Dilution
Smothering

i 0510
Emulsion L LE’A{
Atmospheric pressure REFE

Not attempted

e buckets are painted with
o8

Bright Red
Wooden

Steel

Maroon

Not attempted

oute forming part of the means of
ape from any point in a building to
nal exit is called

Fire door

Fire lifts

Fire exit

Escape route

Not attempted

CG - F023

93. T FIfrH 07U 3 T
Al 2 |
() UgAe 7t
(B) 41sHH

/w/mm
(D) FuurRize oy
(E) 3¥9giisd

94. 79 F9aT & W9 AfMyviig @ T

w1 o g € 3t U e g d %
ST 2 |

(A) STEeIH

,-J{E,]/;:ﬁ?ﬁ\:q

(C) THeH

(D) FgHE g

(E) 37w

95. M Aiafcediwr _ WA TT AT & )
PR A
(B) wTHg!
(C) e
(D) #&
(E) 3rsteg

@Wﬁﬁﬁﬁaﬁﬁgﬁﬁﬁuﬁmﬁ
ﬁﬁﬁ%ﬂmwﬁmaﬁmﬁwﬁﬁ
BT ST 8 |
(A) R ER
(B) B forg

AT Tanrdt

//]’J‘S}'?WEETWT

(E) ST

u
BHE
PelrzlE

96.



Guest
Rectangle


97. A pre-mixed foam installation storage

99,

100.

tank designed for maximum working
pressure of

(A) 10 bars e
(B) 12 bars iy
(C) 7 bars (5
(D) 20 bars

(E) Not attempted

Which type of fire extinguisher must
not be used in case of electrical fire ?
(A) Dry powder extinguisher

(B) CO, extinguisher

(C) Foam extinguisher

(D) FM 200 extinguisher

(E) Not attempted

Which of the following is a common
type of auxiliary memory ?

(A) Cache memory

(B) Solid State Drive (SSD)

(C) Random Access Memory (RAM)
(D) Magnetic tape

[=
(E) Not attempted Er HEE
Hz[El
Dainik Haribhoomi is the 15t National
Newspaper published from
district of Haryana,
(A) Hisar
(B) Gurugram
(p) Keithal
(®) Not attempted

CG - FO23

670 ¥ ST B B @E S R
Seidve BT I T @ fi-fis
% R T |
(A) 10 &R
12 9T
(C) 749X
(D) 2091
(E) 3manfaa

98. fustell & s e 1 feufy 8 frg wem
FFIE 1 = A6 S e
VW/WWWWW
(B) CO, 3T 3 dTel
(C) M T T =T
(D) FM 200 37T g arer
(B) ruariaa

99. fmafefga § & F- erms 161G =1
T AT WhR B 7
(A) F TEIG
(B) Hifets Rz gra (ssD)
ey e i A jav)
(D) B 3y é%
(E) A9

100. eE& B 3§ fyeen a1 wuw
T JHET 2 |
(4) feam
ME Herel
(E) st
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